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‘ No. L 288 gy HOE @8It RSl RKAZH g oy sa|H| 2y
1 |24 FoqUR MxE HYRYUR =8 | 1 14 9 #100,000] #100,000
2 |29 FoUR M2 HjR= HURAHUE 32 | He 14 7 #100,000] #100,000
3 |29 FoUR S ATY S 32 | He 1 6 #100,000] #100,000
4 |29 FoUR +EYU NI EH Y= 32 | He 10 7 #100,000] #100,000
5 |24 FoUR 2582 o S8 BAEE 7|E =8 | 1 15 8 #80,000] #80,000
6 |29 FoUR SHEA 2|23 82| o MEF A 32 | He 15 7 #80,000] #80,000
7 |24 FoUR ZALE RYMEF HYH 32 | He 6 4 #80,000] #80,000
8 |29 FoUR £h|ghd g2 H| =LA ol Y =8 | 1 20 13 #100,000| #100,000
9 |24 FoqUR Mxs shg|A3 pa| =8 | 1 15 7 #100,000] #100,000
10 |29 FoqUR TR} selad 7Y =8 | 1 10 5 #100,000] #100,000
1 |24 FoUR Incoterms 2020 F2 W Are =8 | 1 3 1 #O #0
12 |24 foug B|2BH0|Of BHAAE 4T M2} =g | 174 5 1 w0 w0
13 |29 FoUR MBEE F92Ya 2| 23018 32 | He 10 5 150,000 #150,000
14 |29 FoUR F9UR OrAE I7|X| E=3a| Mg 64 42 #392,000] #392,000
15 |29 2942 AAAHY Upgrade TH7|X| =g | 3 54 29 #296,800| #296,800
16 |29 FooAE FE07E 7|1= =8 | 1 10 6 #100,000] #100,000
17 |29 FooA g HIO|01 & AFZE = TAIOHE ECl IR 6 4 80,000 80,000
18 |29 FooA g YA 2lHto|of H=3}7| =3 | 14 3 2 40,000 40,000
19 |29 FooA g OfOE 28 22t0l of < Jtof 2t =3 | 14 3 2 40,000 40,000
20 (29 FooA g 22| HiHf(Alibaba.com) B2B Ot & =g | 174e 3 2 #40,000] 40,000
21 |89 FooA g fEE 28 43 0p7E =22 | 174g 3 2 40,000 40,000
22 |29 FooA g 22kl sielotH e Fet (FAEol/otnrE/2albE/ R E) =3 | 14 12 6 #150,000) #150,000
23 |29 FooA g Y I H=L A HY 5 | 14 1 6 80,000 80,000
24 |29 fooAE 22 H=UA Yo =y HE ol M 22 | 1H 7 4 80,000 80,000
25 |29 fooAE HIEH AIZTES 9ot U7 kot =3 | 174 4 1 40,000 40,000
26 |29 SY/FA AT FTA 2812 =g | 174e 13 13 #100,000) #100,000
27 |29 SY/FA FTA BIAR| e 42 32 | He 6 6 #60,000] #60,000
28 |29 SY/FA FTA AR MREY U2 =3 | 14 6 6 60,000 60,000
29 |29 S/ FTA Of Mot E42 XHSO|X| =3 | 14 7 4 w0 w0
30 |29 g 2o ¥ HEZ =3 | 171 10 6 #80,000] #80,000
31 | RFHAIRCHH| | 250 209 Eh7|2bd R Yol sia| K 20 13 #100,000) #100,000
32 |Eg Zzaay RIAIS sqQL, 2EHH [matsty| =22 | 174g 22 5 #200,000] #17,000( %217,000| ¥ F7HHBIX|= R2H 2 SQLPA matst7|
33 |3% oA E/8% Ho|~5 O e HHE7|Y =22 | 174g 6 8 50,000 50,000
34 (37 oA E/8% QIAEIDR O E MY =g | 174e 5 2 #50,000] #50,000
35 (A7 o E/8% 2H|XRO| X|ZE o= AIA3 ZE, AT S giojeh =3 | 14 10 10 #85,200| %14,800| #100,000| 252 T3, AH|A|ZL OfEH 2F 0|7k
36 |HF o E/8% LERE QI 107k @4 7|& U | 1HE 10 10 #85,000 W15,000( ¥100,000(& 40| O|ZH 7 383 F0|0f
37 [A% oA/ 4t g AITel CIXIE o g He =3 | g | 10 3 50,000 35,000  wes,000[ S N BUTT= ST UIEE S BTSN ST
38 |7 0AE/8% ESG HIZ 27| =g | 174 8 1 50,000 50,000
39 (A7 oA /8% Qlchet ZH SR 82100 A Hi = Lot A UE | 1HE 8 5 #101,200| 28,800 #130,000(2tstZ X St2to| / QtohZH|AHA AP
40 |E2 oA E/E8 Y LHZEQ Tt S 2 HI=L|A OjY =3 | g 15 7 #98,000| 26,000| #124,000(H|=L|A OjL HO|E
41 |32 Heng 7|22 2ot AEE Aol 2ot Y2 XY o UE | 1HE 4 2 20,000 20,000
42 |32 HEng RERE MR KGR HY W Y38 ogus U2 | 17HE 2 1 20,000 20,000
43 |H2 HEng U- 2 AMEE 27 AR HE W AEY oens 14 1 10,000
4 |H2 ITH| =L [Cl0IE Q128 HO|E{ 2 Atmstat U2 | 17HE 10 3 #100,000) #100,000
45 [F2 ITH| =L AtE|2 YOtE & Al Transformation 7% UE | 1HE 10 10 #103,000| #17,000] ¥120,000(Al £[Zo| ¢
46 (X2 ITH| =L Al O] L=t O] M U2 | 17HE 13 13 50,000 50,000
47 [F2 ITH| =L~ HZ vl 2+= ©2]d(Deep Learning) UE | 1HE 10 10 #116,000 24,000] ¥140,000| 252l Ea{d
48 |HF T =LA REE 9o 0|8 24 with Excel(Power BI) U2 | 17HE 16 16 #100,000] %20,000( #120,000|2t2tst M2 H|O|E £4 with Excel
49 |H2 ITH| =L~ Chat GPT, Wi &7+ £/0{2h =g | 174 10 2 #80,000 #19,000(  #99,000|GPT X 20| &
50 [m= ITH =LA ooz 104 A 4+ =g | 174 8 2 83,0001 #17,000( ¥100,000{%22 10\ YE3 ¢
51 |Hg OA [PPTO| M) ZHE| Q70| HCHE £210|E H|% H|Y =g | 174 10 4 #100,000) #100,000
52 |8 OA [PPTO| M) Pro2Ze{o| ZA|1 H2 EM 22 =g | 174e 10 4 #100,000] #100,000
53 |Xg OA oIS Qo A8 M 2016 - CJO|H 24 & =g | 174 24 10 80,000 80,000
54 |XE OA ZFolg Qo AS M 2016 - CJO[E 24 HH =g | 174 24 1 80,000 80,000
55 |H% OA [HD]BE2 Hi9| B2 A= Z|ZQl Word 2016 Part.1 =22 | 174g 17 5 34,000 34,000
56 |HF OA [HD]HFZ 9] BFE 2= EF 2l Word 2016 Part.2 =22 | 174g 17 4 34,000 34,000
57 |&8 OA [HDIF Y Z=H| AIZSEAL - MOS XHAE 7| (MS Word 2016 Exper| %2 | 17H€ 10 4 20,000 20,000
58 |ZB OA [HDIF Y& H| AIZSEAE - MOS A4 F 7| (MS Excel 2016 Expert) =5 | 17H& 10 5 #20,000] 20,000
59 |Ag OA [HDIF Y EH| AIZSEAL - MOS XHAS | (MS PowerPoint 2016 | =& | 17H€ 10 4 #20,000] 20,000
60 [XZ OA [HDIF =] A|IZSIAE - MOS AHAZS 7| (MS Access 2016 Expe| =3 | 17HE 8 3 #16,000] #16,000
61 |20 Hl=L|A Hof 10Y2Hoj| BE2E= Biz Writing 32 | e 11 3 #49,000] 49,000
62 |el=0f HI=L 2 Fof H| =L AT} 2|9 X| = Biz E-mail 23 | 14E 16 4 59,000 59,000
63 [el=0f HI=L 2 Fof AELS 2ldema BP0 =g | 174 21 5 69,000 69,000
64 |20 H =LA Fof PAGODA 7|%2|3} | can speak 1 B ] 20 8 #65,000| #15,000 #80,000i Can Speak 1 Blue
65 [2=0 H =LA Fof PAGODA 7|%2|3} | can speak 2 B ] 20 7 #65,000| #15,000 #80,000i Can Speak 2 Blue
66 |2=0 H =LA Fof PAGODA 7|%2|3} | can speak 3 B ] 20 9 #65,000| #15,000 #80,000i Can Speak 3 Blue
67 |el=0f H =LA Fof PAGODA 0 2I%|3} SLE 1 32 | 24 7 #70,000| #15,000 85,000 | Speaking Listening Expression Compact
68 |2l=0f H =LA Fof PAGODA 0] 21%|3} SLE 2 32 | HE 24 7 #70,000| #15,000 #85,000|Speaking Listening Expression 2 compact
69 |el=0f Hl=LA Hof PAGODA #0{21%|3} SLE 3 a2 | 1 20 10 #70,000| #10,000 #80,000|SLE Compact Edition Level 3
70 [el=0f HI=L 2 Fof 18871 422 L= Biz 21| (1) =g | 174 15 15 #70,000| #22,000 92,000 |H| =LA HO|5|st BHALH
71 |el=0 HI=L A Hof 18871 422 L= Biz 21| (2) =g | 14 15 15 70,000 70,000
72 |el=0f HI=L A Hof 18871 422 L= Biz 21| (3) =g | 14 15 15 70,000 70,000
73 |29 H=L|2A Hof New = Q10| B0 3= GOl M= (1) =g | 14 20 9 60,000 13,800 73,800| 2= 010| 7HE BIO| E2|= TOP 70 FOf M HIEH
74 |20 H=L|2A Hof New $H=Q10| 0| 3= FOf M= (2) =g | 14 20 9 60,000 60,000
75 |2l=0f HI=L A Hof 12 JOf RAE - QNOIE R& 32 | 14¥ 20 7 80,000 80,000
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76 |2=9 H =LA Fof 12 ¥0l 28 - £0| &= w2 g | 1 20 7 #80,000] 80,000

77 |29 =LA Hof Let's Role-Play! 23t A HR+= HI= FOf (1) =g | Hd 20 4 #80,000| 13,500 #93,500(3-4-5EH0| 2 BLi= HI=LA HoiZ|et
78 |2I=0] H =LA ¥of Let's Role-Play! 32 A Hi 2= H|= H0of () ES= | 20 4 #80,000] #80,000

79 |2=9 H| =LA g0 F RIS H|=L A 0fF] 1 32 | 1M 13 9 77,000 77,000

80 |2=0f H| =LA g0 FRIMHEBH| =LA 0% 2 32 | 1M 14 9 77,000 77,000

81 |2=0f H| =LA g0 F RIS H[=LA 09 3 32 | 1M 12 8 77,000 77,000

82 [el=0f Hl=LA Hof OfLHE 7| Of 16 - Of 22t Mg SEHRAN BT 8 7ts

83 [el=0f Hl=LA Hof OfLHF 7|% Qof 28 - =72 [ TEHRA Ho7|Y +2 Tt

84 |el=0f Hl=LA Hof OfLtE 7|% of 3B - 2% &3 FEHRAN Bo7|ge 8 7t

85 [2l=0f Hl=LA Hof OfLHE 7|% Of 4B - 2% 23 SEHRN BT 8 7t

86 |70 =LA o OfLIE 2| A1 18 SEHRN BT 8 7t

87 |70 =LA o OfLLF 2| A 28 SEHRN Bo7|ge 8 7t

88 |70 =LA o OfLIE 2| A1 38 FEHRAN BT 8 7t

89 |70 =LA o OfLIF 2| AT 48 FEHRAN BT 8 7t

90 [21=0f =LA o OfLIE 2| A1 58 FEHRAN BT 8 7t

91 [21=0f =LA o OfLLF 2| A1 68 FEHRN BT 8 7t

92 [2l=of H =LA gof [OFLFFIH| =LA SF7|E 1 FEHRN Bo7|ge 8 7t

93 |2l=of H =LA gof [OfLFFIH| =LA SF7|E 2 FEHRN BT 8 7t

94 |2I=0f H =LA gof [OFLFFIH| =LA 0] 22UQ 1 FEHRAN BT 8 7t

95 |2l=of =LA gof [OFLFFIH| =LA o] 22U 2 SEHRAN BT 8 7t

96 |2=0f H =LA Fof 10222 g7 DrAE S HI=L A 0jH Y FOf Stepl 32 | He 16 5 70,000 #16,000 #86,000|8t B2 = RAY0|, O|H L Y0, AP0
97 |2=0 HI=L A Fof 10222 &7 Or2EShs H| =LA o0 e B0 Step2 B2 | 1€ 17 4 #70,000) #70,000

98 |2=0f HI=L A Fof 10222 &7 DhAEShe HI =LA 79 YO Step 1 B2 | 1€ 15 5 #70,000) #70,000

99 |2A=0f HI=L A Fof 10222 &7 OrAESHe =LA 79 FOf Step 2 B2 | 1€ 13 5 #70,000) #70,000

100 |9IF9f Hl=LA 20 AFAT AEO 7|E 1 =2 | 14¥ 22 6 69,000 18,000 #87,000|NEW AR AT AR0f 7| Xk b
101 [2]=0] H=L A d20f AFAF AR0] 7|E 2 =3 | 1 22 4 #69,000 - 69,000

102 [2]=0] H =LA 220 AFAF ARO0f 7|E 3 =g | K 22 8 W69,000( #17,000 W86,000(NEW ARAT AR 7| Xty T
103 [2]=0] H =LA A=20] AFAF ARO0 7|E 4 =g | Hg 22 8 69,000 - 69,000

104 [2]=0] Hl=L A d20f CHardl Biz 220] OtAH - o|H Y | ag | 1M 20 8 Ww70,000( 9,000 79,000 (£ Al=F T OK! HI=LA L2 2MEHY
105 [2]=0] Hl=L A d20f CHardl Biz 220f OtAH =g =g | Hg 20 13 W60,000( #15,000 75,000 2= HI =LA YEES 93 L=20{2(2 -7| 2 H-
106 [21=0] Hl=LA 20 CHardl Biz 220f OtAH S5 s | K 20 13 W60,000( #15,000 75,000 2= HI =LA YEES I3 L20i2(h -HHH-
107 [21=0] Hl=LA 20 CHardl Biz 220f OtAH g g | 1HE 20 13 W60,000( #12,000 W72,000(0f[H| A H|=L|A 220

108 [2]=0] H =LA 220 Lo 2 MLEAN H 2t 2 o A=0] 1 =g | K 15 13 W70,000( #14,800 84,800 O A=0f

109 [2l=0] H=LA 20 LEOZ MLEAN H 2t 2t Sy A=R0] 2 =g | Hg 15 13 70,000 70,000

110 [2]=0] H =LA 220 A2 2 v = H2tHet oy A=RO =g | K 15 13 70,000 70,000

11 2150 H =LA 220 A X9 HH 2 Hi = H2tH 2t WA =0 =g | K 15 13 70,000 70,000

112 [21F0f Hl=LA 220 [OFLHF)SR| Y20 - THE HAZ B 1 TEHRAN HO7IYE = Its

113 [21F0f Hl=LA 220 [OFLHFSR| Y20 - THE HAZ H 2 TEHSAN FA7IYT =Z Tt

114 [21Z0f Hl=LA 220 [OFLHFSR| Y20 - THE HAZ © 3 FEHLAN HO7|R =2 Its

115 [21F0f Hl=LA 220 [OFLHFSR| Y20 - THE HAZ B4 FEHRAN HOZIR = Its

116 |2A=0f Hl=LA Q20 [OFLHFSR| Y20 - U 2|5t SEHRAN Fo7|ge 8 7ts

17 |°1=9 Hl=LA 20 L& wx| Yot M B 2= 0ol 3602 F (1) =52| 174 20 4 70,000 #13,000 #83,000| Y20 £ == 0HYO| 60027
118 [1F0f HI=LA 220 A HX| 2o B HLE OHE ol 3602F (2) x53| 14 20 4 70,000 70,000

19 |°1=9 HI=L A 220 L& wx| Yot 2 Bl 2= 0ol 3602 F (3) 5| 171 20 4 #70,000) 70,000

120 [21F0f Hl=LA 530 oct F30f 7| X 3|5t (&) =3 | 174 19 7 #79,000| #17,000 #96,000|I+CH H20] 7| X33

121 |91=09 Hl=LA 530 otact $70] 7% 8|3 (3h =3 | 174 19 6 79,000 .| w79,000

122 |9I=09f H=LA 530 Lol Z gle SREY 5370 - BHaz(oH =3 | 174 20 10 #70,000| #15,000 w85,000|Lte] F Qe SREY B30

123 [1F0f H|=LA 530 Ltel Z gle SREY 70 - BAIE (1) =3 | 174 20 10 70,000 #15,000 w85,000|Lte] F Qe SREY B30

124 |21=0f H =LA 530 Ltel Z gle SREY T30 - AIE () =3 | 174 20 10 70,000 70,000

125 |9/=09f H =LA 530 Lol Z gle SREY B30 - EWE (1) =3 | 174 14 7 #70,000| #15,000 w85,000|Lte] F Qe SREY B30

126 [21=0f Hl=LA 530 Lol Z gle SREY B30 - EE(Q) =3 | 174 13 7 70,000 70,000

127 |91=0f Hl=LA 530 Lol Z gle SREY 530 oy YH B3 | 171 14 7 #70,000| #15,000 w85,000|Lte] F Qe SREY B30

128 [21=0f H=LA 530 E231ot B B2E SR0lE MSO0|X|? =53] 11 20 13 80,000 80,000

129 [21=0f H=L 2 530 [OFLFSFIR] B30 - Y2H FEHRAN "7 = Its

130 [21=0f H=L 2 530 [OFLFSFISR] B30 - X2ZH 1 TEHSAN FA7YY =2 Tts

131 [0 H=L 2 530 [OFLFFIR| S0 - XFH 2 FEHRA HO7|Y = Its

132 [1F0f H=L 2 530 [OFLHFSR| =0 - ZFH 3 FEHRA HO7|Y = Its

133 [1F0f H=L 2 530 [OFLHFSR| =0 - AT 2|5t © FEHRAN HO7| = Its

134 |9/=0f Hl=LA 530 EAHY CiEt@ S20f OFAE 1 (1) x5 | 14¥ 22 5 W80,000( #15000|  w95,000|X| A7 CH2tyl S=0{ OFAE| STEP 1
135 [1=0f Hl=LA 530 A AHY CiEt @ S20f OFAH 1 (2) = | 174 19 4 80,000 80,000

136 |2/=0f Hl=LA 530 A AHY CrEt@ S20f ObAF 2 (1) x5 | 14¥ 19 6 W80,000( #15000|  w95,000|X| A7 CH2tyl S0 OtAE| STEP 2
137 |91=09f Hl=LA 530 A AHY CrEt @ S20f OkAH 2 (2) = | 174 21 7 80,000 80,000

138 |91=29f J|EFH| =LA Q=0 (WM HEHO 28 =53] 11e 15 76 50,000 50,000

139 |91=29f J|EFH| =LA Q=0 (WM HEHO HH 2zt =3 | 174 15 76 50,000 50,000

140 [QI=0f J|EFHI =LA Q=0 (WM HEHO HES A2 | 1He 15 76 50,000 50,000

141 |91=9f J|EFH| =LA Q=0 (WM HIEHO 23t 55 52 | e 15 76 50,000 50,000

142 [1=0f 7|Et H =LA Q=0 |WRIR HIEHO] 33t x5 ag | e 15 76 50,000 50,000

143 [2/=0f J|EFH| =LA Q=0] WM H=L|A HIEHO| ag | e 15 76 50,000 50,000

144 |91=0f J|EFH| =LA Q=0f (22 AHQI0f olet X3 =3 | 174 15 15 60,000 60,000

145 | 2|=0f 7|Et HI=L|A Q|20 [HAIEA H[=L|A AH QI |3} =g | Hd 15 15 60,000, 60,000

146 [21=0f J|EFH|ZL|A Q0] [m2|8l X3 2{A|0H0f =3 | 174 15 15 60,000 60,000

147 |91=0f 7|EFH| =LA Q0] [S}2t4 H|=L|A 2{A0H0] 52 | e 15 15 60,000 60,000

148 [2I=0f J|EH| =LA Q0] 22 FXE QZL|AI0t0] 33t =3 | 174 15 15 60,000 60,000

149 |9I=0f 7|EFH| =LA Q=0 [AROHH|=LA oIz 1A[0H0f 52 | e 15 15 60,000 60,000
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